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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

0. 04 -

0.02

0. 00 -

—0. 02 ~

-0. 04 ~

—o— dFVI
dFVvo

17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5
day

2700

2600 -

2500

2400 -

2300

2200 -

2100

2000 -

\
. — — I — — S — — — I — — - — — — 53¢ — — K- — \ .

; g3 ———
;( — v; pr— |

T

=-X=- fz stock ec
—>¢—  ECB*10%
—@— ECC

T
17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5
day

—>—  PHB*10%
—&— PHC

g
=
i

T
17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5
day

340 -

320 ~

300 ~

280

260

240 -

220 -

—&— DUC

17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5
day

650

600 -

550 ~

500 ~

450 ~

400 ~

350 -

300 -

—&— FRV

17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5
day

T
17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5
day

14
13
12 4

11~

17.5 20.0 22.5 25.0 27.5 30.0 32.5 35.0 37.5




400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

95

90

85

80

75

70

65

60

4000

3000

2000

1000

1.75

1.50

1.25

1.00

0.75

0.50

0.25

1.4

1.2

1.0

0.8

0.6

0.4

0.2

Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI’, "optEtRate’

]

: ij W 'I_\HA HVAVA\NJHUA T—\\ : opt
T’fv VWE i e L TS
i . - MW\ :I :opt
E r\/ g v\’\/\\,\v‘\’\j\,\
— —IAﬁ:L \
A AN A
V VY \/\v V
| E/AV.\//\\A
TRV L -
T WA R
A
- \ =
i /v \
g// \
.
I el
i /,\_ | cltptEtRate )
A 5 VAN M S WAN VAVWAAN Ty
AL
I
1

25

50

75

100

125 150

175



700

600

500

400

300

200

100

Plot

[['setVI _ETcl’

"setVI _fgRec’,

"setVI_VN',

"s1SetVI' 1]

setVIl _ETcl

setVI| fgRec |

setVI_VN
s|SetVlI




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W
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PE6AW

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK ERF

07:50 333 160.0 5| THR07:50 KRENFERF (RAI1RERED)
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21t 2997.0 (9%) 1440.0 323 KEC: 2480.0, PH: 6.5

E3&KEC (2430.0 vs 2470) 1&1E
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157.0), FIREKRREERE




P6AW_W, Day=37 (2025-05-12)

150 1y, v&4%RV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET
1901 L+ 2000
100 4
1200
095 39
930 8033 1000
50
Warning: lcol [FVI',| "FVO’'] missing 50
. = -0
408 7 E— W 300
; 300 4 FRV maxM L 57 5
a 200 - -25.0
E
= 100 - -22.5
[
F20.0
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2600. 0, | TargetSetEC=2440. 0 —>—  ECBx10%
2600 1 » ® ECC
[ ) o
o o °
2400_ ---------------------------- b oy ¢ ¢ 7% oY T EEEETTEEEEETEEE_—_—_—_————————
2200
7.0 4 TargetPH=6.5, TargetSetPH=6.5 ——  PHB*10% f*
o PHC
- ¢ e > S e
o o [
) [ ) [
6.0
' 4 1500
~ 400 1 By lnit @D38 03:36: ET=711 Fg=828.0 Ro=186.0
s l
2 300 - : - 1000
< 200 - : ——8—2
E 1 - 500
= 100 - |
1
0 ’ ' l’ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1500
~ 4004 A MR 1zx|2a|%2a|Za|%Z=| A | BB | FA | FA [H FH BH | BH [H FH BH i 5 & | BB | FA e
&
— : : = = = ©
3300_ ByEt @D37 19:07: ET=951 Fg=988. 0 Ro=nan 1 : : 2 | 1000
< 200 -
£ L 500
= 100 ~
0 2 2 2 E—— 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 1500
~ 4004 A R EFREFREFR ER ER EAREA N RN [H FH BH | BH [H FH BH | BH ERERERARERERS
c 1
()]
— 41 ByWoFv @D38 03136: ET=1032 Fg=960.0 Ro=103.0 —& s & 5}
§300 y i g e—e——0 |
< 200 - :
E 1 - 500
= 100 - : - ———
1 I \
1.0  — - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
08l M R EFREFREFR ER ER EAREA N RN [H FH BH | BH [H FH BH | BH ERERERARERERS
0.6 -
0.4 1
0.2 A
—
o | _obs
—@— PPFD_obs
o
o RHo_obs

FRV (ml d-1)

gI
=

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



25.

24.

24,

24,

24,

23.

25 A

24

23 A

22 A

M_W

T
500

T
600

760 860
m=695,n FV0=0

T
900

1T —e— mw

T
695

T
700 705

m=485, FV0=0

23.75 A

23.50

23. 25 A

23. 00 A

22.75 A

22.50 A

—o—

M_w

T
485

450 4é5
m=805,n FV0=0

23. 4 -

23.2 A

23.0 A

22.8 -

22.6

22. 4 -

—o—

M_W

T
805

T
810 815

m=545, FV0=0

24.8

24.6 -

24. 4

24.2 -

24.0 -

23. 8

——

M_W

T
545

560 5%5
m=910,n FV0=0

22.2

22.0 A

21.8 A

21.6 -

21.4 -

——

M_W

T
910

T
915 920

m=630, FV0=0

24.75 A

24.50 A

24.25 A

24. 00

23.75 A

23. 50 A

—o—

M_w

630

T
635 640




hour

100

8:55
10:15 80
11:20
- 60
12:20
- 40
13:25
14:45 20
17:50 -
1 1 1 1 1 1 1 1 1 _O
IR, SRS & %
égy & %%s» & & %\ %f}@\ o




P6AW

BATIRERA (0.94) , iHiE
FREAVERS STMERR (3210 -

BRIASERRIERE163. 0 ml.

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

08:55 340 160.0 5| {Ri%@08:55 Bz (KRFAMERSE)
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